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Is it indeed written; ‘and nothing else’ — 2502 NN 927 KDY TR

OVERVIEW

X995 17 (in his attempt to demonstrate that there is a Xin who disagrees with 1°7)
cites a Xn>12 which teaches us that the emission of "7 (semen) by a 21 is Xnun,
both by contact (¥312) and by carrying it (X¥n2) even if you are not in direct
contact with it. We derive this through a 1"p; if saliva which 1s 770 by a Mnv
person, nevertheless it is X2 by a 27 (the saliva of a 21 is XWn21 ¥an2 Xnvn), so P
which is ¥nv by regular person (¥an2) should certainly be Xnv by a 21 (both ¥an2
Xwn21). 899 27 asks if we subscribe to 1°7, then the 1" should accomplish that »p
212 1s YA Xnun and the 1°7 prevents it from being Xwna Xnvn (just like a Mva P
which is only ya22 Rnwvn, but not Xwn2). Initially the X773 responded that it is 7791
1"p if we say 17, for even without the 1"? we would know that »p is ¥a22 212 Xnun
(for why should it be different than a 717v2 7). The X3 responded that this is not
so, for we may have thought (without the 1"7) that a 212 *3p is not X»v» since by ™Mp
it is written 79°% 7pPn, which indicates that the emission was merely a 72°2 7701 (a
happenstance) but not a >3 which is caused by something else (in this case his
12°7). The X723 responded that it does not say in the 105 that the 3p cannot be
caused by something else (2°n2 X"7 X?1 1), therefore we would know even
without the 1"p that a 212 »3p is ¥212 Xnvn, and if we will say 1°7 that it is not Xnun
Xwna it will be 1"p 7797, MdOIN discusses other options where we could perhaps
say 17 (by 212 ™p) and it should not be 1"'p 7797,

nvoIn asks:
= 11991) ANPIVY XYM YINY 999N P 29INT N1IYT NN

It is astounding! Let us say that the Y''p is effective that the 212 7p is pan2 Rnwn»
Nw»23, for whoever touches or carries it -

- 109723 NPVY DTN NPVM KT 91219 159 $3AN)
And the 7 is effective that it cannot be X»u» a person to the extent that it is
Xnu»n the clothes he is wearing when he touches or carries the 212 ™p; only the person

becomes X1t but not his clothes -
= ©1)2 NHVY TN NNVN AT HY YT NIIYT YIVN 23t naon 192) 20595 N9DN Y

93703 M can be xnvn a person who is in contact with the *p, but his clothes (which were not in contact) remain
v, However, the 2177 217 is Xnun even the clothes (that he is wearing) of the person who is touching or carrying this
1.
% 3-27mwn XD,
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But in the beginning of 2v%> noo» and in the end of 221 noo» it appears that
the semen of a 37 is 278 X»w» to the extent that it is R»w» the 23732 he is wearing
then.’

mooIN anticipates a possible answer to this question:
- INNIVA PHNT 1T TV NI NN D)

And if you will say, it is not possible for 197 to separate in these laws of N» -
- D7) NPVY DN RNV XYY RYNI NNVNY 927 DIV 158N NYY

For we do not find anything that is X@»3 X»wun that it should not be 27X Xnw»
2972 RRYY —

mooIn rejects this answer:
=195 17 93NN DOV PV 991N P 2NN 11990 29D NIN) INN 93 1IN (3,m 91 DIYI RN

For previously we did say something similar according to v''s that the ''p
(from 7" who pay a P17 9xna w") is effective that 17 pays a w''1 in the xR

P17, and the »7 (from 1"772 17p) is effective that the "1 is paid only 129% and not
70N -
- 49131 DY P13 13981 NYY 29 Y 9N

And we say this 17 even though we do not find anywhere that one pays a w':

122%, but nevertheless the rule of 17 creates such a law, similarly by 2ar2 »7p, the 17 should
create a new ruling that it is Xw»21 ¥an2 Ravn, but not 27732 XIV? TR KAV,

mMooIn shows us another instance where 1°7 creates a new law:
- 13 NmIY 157 9308 299 INDIVY T2 95 33N N P¥am 232 "ynpY 19

And similarly later regarding a yo», the X713 states; the ''p is effective for an

? 3 mwn n's.
*If we say (1"p 719" X7 X27) 17, why do we not say 17 in this case? This seemingly proves that there is someone
who disagrees with 17 even 1"p J19°17 827 RO
3 Therefore if the 1'p teaches that 212 ™ is Xwna (1 ¥an3) Xnwa it inevitably has to be 0732 Xnv? oTX Xnwn; therefore
this idea of 17 is inapplicable here.
% See however previously X,7 and later X,3 that "9 maintains that a D78 PIXW MW pays a 1292 ¥"1 (see n"M).
T3,
8 A yon is a mat made from reeds. The issue is whether it becomes Xnv if it is in the nn7 2mK.
? The 1"p is, if small earthenware jars whose openings are so narrow that a a1 cannot insert his finger inside, so they
do not become &nv from a 21 (since a 077 *22 must become Xnv for its inside), nevertheless it becomes &nv if it is in
the nNni 9MIR, so a yon which becomes Xnv from a 21 can certainly become X»v in the nii 7M.
' The 1"p accomplishes that the mai Smxa yon is Xnv for one day until the evening and then (if there was 77°20
beforehand) it will be 717v.
' A 212 yon is only 27 nXmIL K1Y, so 177 dictates that A YTINA POn is also only 27¥ NXMY Xnw, but not YW XM as
by all other nni1 2782 D°RNL.
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evening X2 and the 17 is effective that it should not have 't nR»W -
- 73 NIV XYY NN YN 9271081 NYT 29 Y N)

And we say this even though we never find anything which is in contact with a
n» that it should not be x»w for (at least)'> seven days; proving again that 17 can create

new laws, the question remains why cannot we say here by 212 *p as well that a1 RS 1"p 21K
Xwm and 1°7 217K that it should not be 0732 Xnv? O7R KNYA?!

mooIn offers a distinction between 212 *7? and the other two cases mentioned:
- Bpngnd nt pxo P10 02937 W 1990 BYY P17 PINY 199 Y XY

And perhaps we can differentiate between 212 *7p and the other two cases, for
(regarding 21717 X121 17pP) w''l and 91a% are two separate concepts and it is not

considered as doing something halfway if we rule that he pays a w"1 (because of the 1"p),

but pays only 191 (on account of 1°7) -
= NIV AN DIVWYI PRI /T NIV JNY PRY NN 0O¥NIN 0927 VI 1P 19

And similarly later regarding a n»2 yo» there are things which touch a n» that
do not have 't nx21 and they do not become an 7R2W7 2N -

- 5990 5991 PDYNY PYIN P9
For instance food and drink and earthenware utensils, so it is possible that a yon

should be 29¥ nRMW 8nva (on account of the 1'?) and not be ' NRMW ®1Y (because of 1°7) -
= PRIND NPNY VAN N XYM NNNIV 1A YWY 195 NI YaN

However here by 212 >7p since there is Xw» nX» 1w (which we derive from the 1"'p)
it is impossible that this Xwn nxmw should be halfway that it should not be o7& xnvn

0°732 X1V on account of 17, because there is no such thing as Xwn NXMIW not being RV? DTR X1V
0722,

nMooIN mentions a similar situation, where we do not say a PRXn? 1"p:
= (0w 3,m 97 DINVIT NIP P992 199
And similarly in the first P22 of 2’nop noon -
- %595 NN PRAN PPYNN YIY HNNN PRIN PPYN 19999
We derive that liquids which became X»v on account of being in contact with a

12 See footnote # 15.
" "1 or pra1>%n deal with the amount of payment; while 123 or 7»%y» deal with the type of payment.
' See “Thinking it over’.
15 o1 o PWM 19X can never be an IRMWLI X (they cannot be 0°91 07X X1wn) and they can never become 7Y
(once they became ®nv); we see therefore (by 151 Ppwn 1P9IX) that nn XMW must not be X171 NXMW (it can be
longer (by n") so therefore it can also be shorter (only 27¥ nxmv) by nna yon.
' The 1"p is; if liquids which touched a *5 which in turn touched a yw are Xnun food, so liquids which touched the
P itself are certainly P22 ¥nvn. The X3 there continues that we say 1°7; just as *?2 mama PRAT PRPWH cannot be
NaLR a °72 so too YW Nann 187 1Pwn (which is derived from °92 nnma PRAT 1°PWR) can also not be 2°90 Xnvn.
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yvow are 770 Xnwun from liquids which became X»v on account of being in

contact with a vessel -
= PYNI N NV NIV YN 927810 NY7T omns 171:”)\’) 1919Y 17 9N NI

But the X713 does not say another type of 17 that the yaw nnnn 1PX27 Ppwn should
be 29w just as the 2°22 nann 1°Ra7 1Pwn are 01w, and the reason is because we

never find anything which touches a y2w that it should not be a PwR", similarly
here there is no thing as Xw» nX™v which is not 2°732 X1YY QTR KAVA.

mooin asks (the same question in reverse):
= 917995 D)2 NNPVY DTN RNVY YD 991N TP INNRT N1 9NN ON)

And if you will say; and let us say that the ¥''p (from 21 5w 1) should be
effective regarding the a1 ¥ *7p concerning touching, that touching the ar 5w *p
will be 25732 XD TR XPWR just as 21 YW P -

- XU ¥IONY 94 93nN)
But the »7 (from 77w 5w *1p) should be effective to exclude 21 >w *p from being
Xnun by carrying it without touching!

N1B0IN answers:
- PRENY M 993 KD )Y Y

And one can say; that this too is considered a halfway 1"» -
- NYUNA NNV ROV D)2 NNVY DN NNPVN WINY 2791 INIUN NYY

For we do not find anything that by touching it, it is 29732 X2vb 278 X2, that
it should not be Rwm»3 Rnw» -

- D)2 NPLY KDY DN RNVN WHINY DY NION Y2 72591 JNHUN NaYTN
And on the contrary, we find in the beginning of 2°%> noo» regarding the 357

of a 21 that touching it, is 278 X»u» but not to be 23732 R»w» -
- ©27)2 NRVY DN NIVM NV

And carrying the 2177 2077 is 2732 R»UY 27X K#WR, So it is counterintuitive to say that
a1 5w P is 0°732 XPUR OTX XPUA by Y, but it is not Xabn by Xwn, when Xwn NXML is more prone
to be (D732 XAYS DTR) XAUA than YA NRAD.

mooIN asks:

7 The %95 nnmn 7K1 Ppwn are considered a ARy *1w. The YW is an XML 2K, the °25 which touched the v is a
TR™IWY R, and the Ppwn which touched the 95 are a kMY "1w. However the 7pwn which touched the yw are a
R WK, for we never find anything which touches a yw that does not become a nR™v? NWRA.
' The 1"p is based on 7w %@ ™p, so just as Nv 2w ™P is not Xwna Xnun the same should apply to a1 Hw ™ p.
' 999n is anything which one uses for riding an animal, for instance the horn of a saddle (the saddle itself is
considered 2vn)

4

TosfosInEnglish.com



T "7 'OIN R0 P2 702

= NUNY 9990 P 23N N1IYDI 9NN ON)
And if you will say; and let us say that the Y''p is effective that 212 "p is Xnvn

0°732 RN0? QTR RNLY Nwna -
= 25915 13%7 NNYY D)2 NHVY XD NOTIND DTINR NN RNV ROV W YPIAND 197 93NN)

And the 97 (from ™70 *7p) is effective to exclude the touching of 212 7P that it
should only be X»w» the person who touches it but not 2732 8»ub, that >p ¥

212 should have the same rule as 229% which Mm501n just mentioned that 257 ¥ is Xnwn
0°732 Knv? K91 D7R!

mooIn replies:
= 9990 9P 139999 YD 193 2915 RYT RYUNT NI NI INDY RNOY 919 NN

This too cannot be and this is no challenge, for how can you think that
regarding Xw» of 72 which is not written at all in the 770 that it is Xnvn, we
derive from a Y'"'p that it is 2°732 Xn0? QTR RHLVA -

2909 D21 P9 ¥ 121 Y N2 XY 192 29057 Y
And regarding ya» which is written regarding *7p (indicating that its Xm0 is
superior to Xwn), we should not include it for all the laws of 219 ya» from this

Y''® that it should be 731 Xnv2 078 Xnvn! Whatever 8™ there is by Xwn (which is not written
in the 771n) should certainly apply to va» as well.

SUMMARY
One cannot say 17 to create a new law that otherwise cannot be found (except if
the 1" and the 7 are dealing with 0°727 '2)

THINKING IT OVER

Why is 11 °¥11 and 1913 considered a 2°727 "1w (one [¥"1 or P11 °Xn] deals with the
payment amount, and the other [ or 7»%yn] with the payment type),” while
XWn DAL and 2°732 XAVY TR XnW? are not considered 2727 "1w (where one [Van or
Xwn] deals with how the 8mW is contracted, and the other [2°732 XY, or not] with
the strength of the axmu)?!*!

20 See footnote # 14.
2l See mwn nom1 and TMRNT WO XK # 57.
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